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urpsmasuiler (pHEW  SLTOL  [Bleneus el ed
WO(HEMIB6T @emhiseT GUILLILL Flev L &HendHHm6I
o Haurh@G OQeweoundser. eeflsrs IBHS
Q6o BUIGVTSHSHEM60T 6Te0Tsh
GSBIULIL60TLD.

a. BuedLdhasd b. miemtemigiey

c. aflewmaaggsaianwy d udeamalr

The process by which animals form species - specific
behaviours during a critical period early in life, which
are not easily modified is known as

a) Instinct b) Intelligence

c) Animalismv’ d) Imprinting

Ans:C (May be)

ueTefuled Hevall 6lTLIGI BT6IE QIHIOTET HMBM6L
FHmeTHemen aleNTHd allfiauamnd GFuiul GealeithGoeT
AILBISSHID DINIHeND

a.  wegumed Sipfidemns

b. Gargsmhl ofbames

C. OLeomiieny oMlbemes v

d. ognimewn. opfsms

The report which emphasises that four types of
learning skills should be developed in school
Education.

a. Yashpal Report b. Kothari Report

c. Delor’s Reportv’  d. Sargent Report
Ref: NR IAS ACADEMY'’s Paper I, Psychology
Pg.17

GWHMBUNe euTulet aTdTallenet GFUIGOLITL Igene
BITDBTE  SIENLPEEBEVTLD

a. e eglialemeny

b. elemmisr egitalener

C. UsHse0 adiailenet

d.  9ewhss mashse adlialemert

The child’s reflex of the mouth is called as

a. Rooting reflexv’ b. Moro reflex

c. Grasping reflex d. Stepping reflex
o selpuflear &GmGom@srvmibaeir

g Benipd HLILGL aflend &L UL
BarHHHLILBSBSHI

a. OxOFeoaFTi. b. &GymGuomomirs

c. Gamflwmes d. GafGurenL11v
The chromosomes of an individual can be examined
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with a chart called as
a. Gesellschaft
c. Chorion

b. Chromomorph

d. Karyotypev’
ererueu  opAflwm o MupICHTESH60

BB LI YBETET HL DG (PDBEDU

©_(HUTsHd HiHemen ‘BBLISH0 OFWIed BleneoselT

6160IMEMLPS HITIT.

a. Gueirgdenr S. Lepd b, A.C. syfteimerdiesst

c. o1 Gy d. S.L. n@yemenslv’

has developed a system of teacher

observation and evaluation which he terms as

‘Instructional Processes’.

a. Benjamin S. Bloom

c. Jean Piaget

Ans: D (May be)

Nwn@euier aBmIiiLg SIfised Smer euenTddluied

GUhmaHeT GeuaflliuGsHaId QU herT S e e

BemeVHSH HeTMID  6TGILIGI:

a. (pempwmer aIFGFweoUTL (B LI(HeULD

b. yevar Quss umeaubdyY

C. aFQFWUTBEG (PhHewSU! LIHeud

d.  sigmLTEl utTiumss CsTewih HbhdHGID

Li(HeULD

According to piaget’s stage of cognitive development,

a child displays ‘object permanence’ in:

a. Formal Operational Stage

b. Sensory Motor Stagev’

c. Pre-Operational Stage

d. Concrete Operational Stage

Ref: NR IAS ACADEMY’s

Psychology, Pg.22

enLoWl [BILDL LD6WTL6u&h et euenmTadulled @Genmum(

gBUTh GLHmSE6NeET 2 L6 BB o 6nd

GFweouT (BH6eM6d  LDHHHSHETMD  HTEWILILIEG 60

Gune oP@BiseTed SIBWILBISI

a. afigeflgwy b @eragseamn

C. Seolefgbd d. ®ymgs Heenio

The sluggish nature of children in both physical and

mental activities due to the defects in the development

of Central Nervous System indicates:

a. Cretinismv b. Dwarfism

c. Albinism d. Gigantism

Ref: NR IAS ACADEMY'’s Paper I, Psychology

b. A.C. Ornstein
d. S.L. Presseyv’
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10.

1.

12.

13.

a.  LWeUGBSHH60

Pg.14
@ SpfflwT SO TENITHEPSES DIFHSLILIgUITEDT
G&w aleursld, GWF QFwed L Gumes
GWFOFLOLTBHT0 FELUBSSHID CUTIDSH DIGH6s
ufliorend Geualdbsm Heaugl

a. sBmels Sefeno

b. GumAuier eumuieons SmmBed

C. Gumly ougliuemLuleomer &HBB6L

d. =mmed @ s Gewedour®Y

A teacher engages her learners in a number of group
activities such as group discussion, group projects
etc. The learning dimension this highlights is:

a. Joyful learning

b. Language - guided learning

c. Competition based learning

d. Learning as a social activityv’

Ans: D (May be)

GlBleme0  QUTIHL FnmIdEhL 6T ChToemBuITEGeur
I0eVEH  THTBWTEEUT BLHFH OBTeTEHLD
& (LD Bl & 60 LD & 6 60 6T 6ot
66N LM HGUITLD.

a. [ILD b. wentiLmesTenLD

Cc. QuimpssuurGY  d uslLBme

The disposition to behave towards environmental
objects in a positive or negative way is defined as

a. Aptitude b. Attitude

c. Adjustmentvy’ d.  Anxiety
SQ3R-e0 @yewimeuz ‘R’ @miiniGeugi:

a. Recite b. Review

c. Read d. Reflectv’
In SQ3R, second ‘R’ represents:

a. Recite b. Review

c. Read d. Reflectv’

YerpLiledt BLSHengll LNTleysmeriled 6TemTenIBIG6T OBBILD

FBBIGHMET  QHEIBMOHSH  6IIPHID & Bener
616UT6VITLD

b. UGHSTUISH6eD

C. GsresasTUIsed v d. wH 6

In Bloom’s classes of behaviour, the skill in writing,

using an excellent organisation of ideas and

statements is

a. Application b. Analysis

c. Synthesisv’ d. Evaluation

‘MAN’ eretr Qgmed ‘RFI” eteu1s @piidalILIBLD eTeuflsd

‘BOY’ atetiB  OQFmevenev @GBILILSI:

a. GIT b. GTTV
c. IGT d TTI
If ‘MAN’ is coded as ‘RFI’, then ‘BOY” should be
coded as:
a. GIT b. GTTV
c. IGT d TTI
ugd | -eow ugd ll-Ler QUIHSHIS.
ug - ugas-ll

a. HeWI MBH  Bem6uor
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14.

15.

BUIEBHSH S Bei -l slenlds BsmeoF
B Hement
b. emeouTUD B6UGIID -2.(1p6VEVT  -6MEOULIT
Gamement

C. urfremeu  Fflysam d  -3. ysss Hius ST
d. miemtenipiey Garsemen - 4. o9 aueny CFTHme

&(mHe
a bc d
A1 42 3
B 1 23 4
C. 4 32 1v
D. 4 13 2
Part-1 Part -II
a. Hand-eye

co-ordination
b. Fluctuation
of attention -
c. Optical Ilusion
d. Intelligence test

1. Block design test

2. Muller - lyer test
3. Book illusion
4. Mirror drawing

apparatus
a bc d
A 1 42 3
B 1 23 4
C. 4 32 1v
D. 4 13 2
Ref: NR IAS ACADEMY’s Psychology

Material Pg.66

eifidaefesr GLolbUm BLI LK en60H6160

SLaTEH  QUTIHL &6 TmSID  CFWeOUBH MBS
GTGTLIHENET HEWILMIULD (GL0HeMBHBEMEIT DT 615 SH6m6T
GBILLIGEBSI.

a. 2 BuSHHSHHETEnLD

b. alLrwwpdlgsaiamwy

C. GWRGUTL (HHSH6IeNLD

d.  peneiyssHearento

In Erickson’s stages of development,

Indicates the child’s interest in seeing how things
work.

a. Generativity b. industryv’

c. Self-absorption d. Initiative

Ans: B (May be)

STONIEG BIDLS OHTGHH U WweTbleupEFFEemern
FremiBD  CFweLseiemmsd gBUGBLD  LOTBBEISET60r
Goauzsdhma Senall LWGSLGL SmHaiulest GuwiT
a. eewasl By erarQauBeonalymri v’

b. amGsrdym

C. e0L&Bm GuoGeummibL LT

d.  umel&lym

The machine which is used to record changes in the
autonomic nervous system brought by emotion
provoking stimuli is:

a. Electro Encephalo graphv’

b. Ergograph

c. Sphygmomanometer
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16.

17.

18.

19.

20.

21.

d. Polygraph
Bmal  Geudbervevflesr miewremlons GFmHemeuisd
2 _6ITeNL MIGLD
a. Ogmeogmym CargHemen LOBMID QFwm CFTHement
b. Qgmev gnibs GamaHmen WBBID LLF CamsHemen
C. Qamed &gmipe GCormmen wLB@ID GFwn
Gangmen v’

d. Qswp Garzmer wHBBID uULF CFrmHemer
Adult Intelligent Scale of Weschler comprises of:
a. Non verbal and performance test
b. verbal and pictorial test
c. Verbal and performance testv’
d. performance and pictorial test
o Ibpewlwl BTFAl UsTafuler (IpgHed Herhens
BalT Heneta] FmThIHTe0 DIl
a. Ozmedelwed Fihs Hlenee,
b. wepwrer Heereay
C. plapey OuTBSs PoaeY
d.  yeveigmiTe) FMihs Henee]
When you recall your first day in nursery school you
utilise the
a. Semantic memory b. Procedural memory
c. Episodic memoryv" d. Sensory memory
Ans: C (May be)

QR SHaBUDT SUIBNSWTE @HLP6V
LBEILD SBIeUTUISeM0 QUTHGSHS STEDID (LPILPENLD
Bemga)d CamumLm@Lb.
a. welsGru b. o emiugriumuiey
C. oPleysmi d. pLgmzuilwed v’
is a holistic theory which looks
at the individual in context and in a naturalistic setting.
a. Humanism b. Psycho-analytic
c. cognitivism d. Ethologyv’
(b BULITETe0BHSI LOBEMBTH [HULTTET SHIT6wIL D6Vl
Qumib uTsLDd DG LD.
a.  SBerome b. QLeangemyL v’
C. owwowelem o ewp 0. ewa L mesr
The Part of the Neuron which receives messages
from other neurons is
a. Axon b. Dendritev’
c. Myelin Sheath d. Cyton
GWHMBHIEHSBTR  Benenidh s  CaFmsemeareni
® _(HeUTSHEWRIT W
a. Oeudberveui
b. wWiGy wBBID LTTHET
c. Dr. umiguir
d. CwWmBUTEYE GuedeorsY
Children’s Apperception Test was developed by
whom?
a. Weschler b. Murray and Morgan
c. Dr. Bhatia d. Dr. Leopold Bellakv’
Qomf eTeleuTy SiewL Wl QUBBEI, 2 euyliul L g,
yiha Gasmemeniul Lgl, o BUSHHWTEISI  6TeTLSI
upplw gL ul afl e e 61 601
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DIDLPEHHEVTLD.
a. o en@préhE Gompuiuwsd
b. @alufued

Cc. Qumy mswsliLuBHHaY

d.  QFTBeUTmHeTwed

The study of how language is acquired, perceived,
comprehended and produced is called as

a. Psycholinguistics

b. Phonology

c. Language acquisitionv’

d. Semantics

QUTHSHHIS.

a. el euT. Heir Gymbd - 1. ewg@aml 21
b. Lirewrm fen Gymb - 2. XYY
C. Loyett Feor Gymd - 3. 19ewyBamidl 18
d. Afdlestedad - 4. XO
a bc d
A 1 2314
B 3 41 2v
C 4 321
D 2 14 3
Match the following
a. Edward’s Syndrome - 1. Trisomy 21
b. Turner’s Syndrome - 2. XYY
c. Down’s Syndrome - 3. Trisomy 18
d. Criminalism -4. X0
a bc d
A 1 23 14
B 3 41 2v
C 4 321
D 2 14 3

DLOTH  BHITEW L6l & &IT 60l
BlomGmaT  6HS @B (PBSHBBEL  WOBBID (LT
SIILIUEIID DIGVVTSH HETeFenF BN L denguletr
l6nerT6) 6TEITGVTLD.

a. SBMeL

b. eaglialemen QaweOuTGY

C. ssaBmeoulBsHsbd

d.  werGeusd

is an involuntary behaviour that
occurs without prior learning and prior experience in
response to stimuli.
a. Learning

c. conditioning
Ans: B (May be)
© (Lo 6o &L LenoLi L& 6T 65 ‘&M L em 6ot
LIMTEnEUWITGNTES6T  LOBMID  ‘SefUl L &L BHHmS
BaBPiBSemL Gl 6% 2 aHIenDWITET  DIEVEIS
©_GuTenLOUIGLEVTHGEI cTeTLiGHemenn GoumpiLibsHs ipiwl
BeoWITsH  Heenld, GGl

a.  evwwmpeneoulllpd &0

b. o senewiiey

C. D6 @(RMIGENLOG

d. sa&w®eayssaimny

b. Reflexv
d. emotion


http://www.gfort.in
http://www.gfort.in
http://www.gfort.in

www.gfort.in

25.

26.

27.

28.

The inability to differentiate between the real the
ideal, characterized by two mental configurations,
‘imaginary audience’ and ‘personal fable’ is called

a. Decenter b. Intuitiveness
c. Mentaldispositions  d. Ego-Centrismv’
FaBBIB6IT.

1. R.N.A eaeamug fBur plusefs oudeod
aaugtad. D.NA. eaug 19opdEend MG
Busells Ifleold eIeTISHTGLD

2. QuBBpTTaelLWbbel FhHHEEndE LOJL

ghBazpmismer &LHd R.N.A. aurerg

D.N.A.-uyLeir giement  Lflwiailsvenev

smbp @am of, spp Bymwie sapv

By Qe &, &mBB @ Heum

BOrewiB FBBIBEDHD FHWTEEN6I

. Oreni(h FBHDISEHD  SHEUBTETIEN6

Statement:

1. R.N.A. Stands for Ribo nucleic acid and D.N.A

Stands for De-oxy Ribo nucleic acid

2. R.N.A. does not act as an assistant to D.N.A.

for carrying out the genetic code from parents to

cooo

offsprings.

a. Statement (1) is correct and statement (2)
is wrongv’

b. Statement (2) is correct and statement (1) is
worng

c. Both statements are correct

d. Both statements are wrong.

Ans: A (May be)

qIDL] BBID HMIFHHFbseMer auenTFHenw
& BUUBSHSHID euenTFS ammTGLOTeneT FiJoh@&HD &L
a. o e &yl b. MwrLd agniv’
C. eowaymuiB &yrnd d. ewswed &yrnd
Growth Hormone which controls the development
of bone and tissue is secreted by the:

a. Adrenal Gland b. Pituitary Glandv’
c. Thyroid Gland d. Thymus Gland
SIBQFTT GUMTLILLD 6163 OFT6L6m6V GUIPRISEIULIGUIT
a. E.C. Lmedwev’ b. L.M. GLimoesr
c. GW. QuLimwesr d. S.M. Lireoi

The word “Cognitive map” was put forth by:

a. E.C. Tolmanv b. L.M. Terman
c. GW. Terman d. S.M. Turner
Fermlied aufWime B HTEHIL60HM6T Bl HS
o Fab GeugdlIOUT(HeIT

a. GBazmemevest erer0L Byerd

b. o Mereder

c. gfLemLed GBarenevarv

d. Garemeven

The chemical that causes transmission of nerve
impulses across synapse is
a. Cholin esterase b. Adrenaline
c. Acetyl cholinev’ d. Choline
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29.

30.

31.

32.

33.

34.

35.

BT (PpH6edsd euevgl enaullenmed SBBIB6STEmTL
@ 2 L edwsssF OFweoLn®h L6 B & sulemmed
UPGWEUTEH 10&aD SHeUITE GHLILIGI:

a. GpTwenp LB IBEBLD

b. edmoes LUIBS TBEBLD

C. G&IW SMM6L LOTBMLD

d. @meafsés &mmed wWIHBLY

If we learn a motor activity with the right hand it
becomes easier on that account to learn that activity
using the left hand. This is known as:

a. Positive transfer ~ b. Negative transfer

c. Zero transfer d. Bilateral transferv’
Gambervd, GHmsHHeT LIBriiGeoBuw mlensoommm
Bwd 5 S M &0 Brflud &) W 6of
FLLOLLUL GeTengl  eiaipl  BUermT, @hs
© eienmmihgd GUTY eUcdevenLDemLI o
6160IMEMLPS HITIT.

a. GarB Hpeiser

b. Muehs Gwmh eupd@se

Cc. Gumfuiwed Fpearv’

d. Gumnf sWsILGSHDHN FTHMID

Chomsky believed that the child is programmed at
birth with the capacity to master transformational
grammar and calls this innate language capacity as

a. Verbal Skills

b. Language Universals

c. Linguistic Competencev’
d. Language Acquisition Device
Ans: C (May be)

SIO11D
QUGVAIGT GJRUT QUTETEWLTS 6TEiTaDID LITL 60 Silg &L LD
CuUBB  HIT6L:
a. wenlGwaamev b. ssBTE@IH
C. ummpTETHY d.  Feausdhsmoeni
Ref: NR IAS ACADEMY’s 8th Tamil Pg.122
QaBIhEG CLBULL WwalsTser, LUpameussT CFThHal
auBUTEH eTemmd CaTdhal 61(paHISHEBTDL?
a. o b. o
C. o @ d 2 v
‘@B’ et allewatwiiguilest EBHHBTEVSH HETENLD
QB elener(pBml 6157

a. el Lmesr b. &l Leur

c. alLBLaiv d.  al®Gsust

‘eua @pouemarl QuBBHTEL QUBBECsH ysW
maUIEBID’ 6TeuTll LITIQUIGUT WImT?

a.  SlelIemeUWITT b. &gsn

C. umygwimi d. umygsreeav

Ref: NR IAS ACADEMY’s 10th Tamil Book
Pg.8

allewgey, SIFFD, Geugef, wLIPFF WHelw

QUT(HETHMNEL  AU(HAIG

www.gfort.in
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36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

a. GroLsdaal b 9B8@&S0sTLIY
C. BamEGnHeHH d.  oBiysFesTed

Ref: NR IAS ACADEMY’s 10th Tamil, Pg.81
FLBF QFmevanevd BT (BLIIgHS.

a o _glearem v b. o auwGsu

C. eTalien d. gar

Ref: NR IAS ACADEMY’s 6th Tamil, Pg.84

@ OaTLfled W, 6Igl, eTeweu, WITEUT 6l6iTanID
alleméh d@Ehdh @G almLwns el  GFTedG6v

- oBW.
a. GewrueGumemet b, Lwelenew
c. eeuruwiv’ d.  Gguielener

Ref: NR IAS ACADEMY’s 5th Tamil, Pg.61
Hmb@merlled eTHHme BUIOH6T 2 6iT6ment?

a. 3 b. 9v

c. 4 d 6

Ref: NR IAS ACADEMY’s 10th Book, Pg.8
wpuwied “Geueitene GleuGamOTer RHhHHI. B aeiTern
OMETFOFTEL 6TalIMBMF FMTHHHI?

a. Gmrfeneur b. erg@feneur

c. Ganulememv’ d.  Qzm_Mewewnt

Ref: NR IAS ACADEMY'’s 5th Tamil Pg.21
UNAHOTHB HmeVEHT ‘@ WIT HelgF QFDGIMI’ eTenild
s (hemyenl 6hd BFev Geueuill LmiT?

a.  @reGurge b. Qepasipy

C. welb6sTy d. ewsHal

Ref: NR IAS ACADEMY’s 10th Tamil Pg.21
aleerowFss Gamevemevd Ozl GFuis.

a. BLbB@ Ogev b pLHS seim

C. pLEPaB sTewern 0. LTS GHHed
usbauemad o ulisefer uflewrmo euenT&Femw
alflauTssd Fapild Bevdbaduid 61g5?

a. Sopaurgaswdv b. Gsmamyib

C. SmwbAHIb d.  Guiluwygmemnd

Ref: NR IAS ACADEMY’s 10th Tamil Pg.160
ol gesT (1pesT Meulm Gameulill LT, -@&0HTLMed
MeUT 616U

a. @a@Omprf OGurgs Garedy

b. e Gurml UG

C. oalamF GQFmed

d.  o&euwT

Ref: NR IAS ACADEMY’s 10th Tamil Pg.79
uflFloms  HmeVEhITEL  “‘IFSHML  MHUD S
QUGLEVTET  6T6STmI  LIMITL L LILIL L 6ufT

a. oewiureni G

b. &mws ®mreueiTY

C. gmu. Gagminierener

d @Gl a6

Ref: NR IAS ACADEMY’s 8th Tamil Pg.9
BT6LH6NT HalHSL060 DieiTem GoucmwiBld - Siend
Cprads HOWDH udud i Ceuemi(hd eTaTEnID
uTL60 eufleemer  6T(DZHUIGUT:

a. Qeu. @moedmibeTT

b. & gsdgtapsay

5

G-Fort Academy

46.

47.

48.

49.

50.

51.

52.

53.
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C. Honlledd O _60HBTH60

d. smm uryd

Ref: NR IAS ACADEMY'’s 8th Tamil Pg.24

Bm HOWBEHHGD GUTHIeUTET (Wewmll GLWIT

axl?

a.  FTHHe b. gm5d)

C. HHws d. wdser

“06 2 &l (1pHeoGIomf, wpdHH6ITH” eTeitsI

FapluieuiT SLEUTIT.

a. Gseu Gpwll umeuTemITY

b. o .Geu gmAprsuIwiT

C. JFrsmy Geusvenrtit

d. sdey Geusveni

Ref: NR IAS ACADEMY'’s 5th Tamil Pg.12

Lelteu(pld OHTLTH6eMed alsveled WG Bl HmdHsH

Cabal 61,

a. erpeumuish GETLT

b. elwmBsmer alemeanipBens SIGHH

C. I, 6IFH aIb &L HFOFTRHMET SIBHHIHI

d. @&y rbm eloaasssda eV

Ref: NR IAS ACADEMY’s 10th Tamil Pg.143

a0 SBEmer. BHOHTLT o _ewiid I

LG OLIWIT:

a.  SGHSSTUTG GLWIT

b. smwearg GQuwiv

C. Ogmeveum@ OLuIT

d. srelwrg GQuuir

Ref: NR IAS ACADEMY’s 9th Tamil Pg.46

STHGT Be0HHEWID FnMID HIT6L:

a.  ympulum e GleuemTm LDTen60

b. amMms

C. Qowésa allendswY

d. baamed

Ref: NR IAS ACADEMY’s 11th Tamil Pg.61

UBmeaEaT elevend BUTHISH ST  STJ6eNILD
G LD.

B ICL(HSHSLD

o auiemeud Bzlg

LGauBleney MHBB v

d. s1hseT SIfeusHTed

Ref: NR IAS ACADEMY’s 6th Tamil Pg.10

piler eubs BIOTUAL Lreluyb

&mede 6Ub®H SHIHBIBN  LPEMLUJLD

Cupstamid eufleeT LD CUBB Bevddwib.

a. uflumied b. ugdBpiugg

c. ulgeaiutemeY d.  QUIGBITHBBIILDL

Ref: NR IAS ACADEMY’s 10th Tamil Pg.130

SOPSSHH60 eTPUILILLL @ Wgone (LSBT

6T 616N 17

a. FHmaleveluysanT ouewiLmer Gsmuied

b. wmoeveob Apus GCsmuied

C. gy el Fuiboet Bsmallsd

d. sehameyi FmpaywLwrt Gamalledv

Ref: NR IAS ACADEMY'’s 5th Tamil Pg.18

oo


http://www.gfort.in
http://www.gfort.in
http://www.gfort.in

www.gfort.in

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

SHetewld  aflenenumeueneTuid  GlLwIT
CemBepTLmysh BsiTey GFUIs.

a. OoaSengd HetGL 6l

b. QsaiCmener urtgsTwTY

C. OaanSenoll LTTSHSTUIT
d. Ogeamremerd BeETGL 6T
yewri & Fluflled  eu@mO o)
o WiTEQwUWIWTE  BHHSHTe0
Qamevev Geuemt(BLD.

a. 2 ult WwsHe b. Quu g

C. e uiit GQuui wpxHed d.  Gouiuis

Ref: NR IAS ACADEMY’s 8th Tamil Pg.146
‘&M IguWens&He0’ eetip oJLg OHTLflesr GUITmHel
eT6sTe0T?

a. sl Guaigseo

b. GuargdmdhmHed

c. W@swrasl GBuazsady

d. oGtk Buaiged

Ref: NR IAS ACADEMY’s 9th Tamil Pg.122
‘epmIdleL’ eTelleImBE (HBIDUSMHE FTTHHHI?

a. oy b. yev

C. Qg d. Qamg

Ref: NR IAS ACADEMY’s 5th Tamil Pg.66
HPHBTE@ID SNeNEIOTLIHEDH6T QUIT(HHSTSH G6iTH.
a. Gamm 2_ewr b. wp Her

c. Gameod Gur®Yy d. & B

Ref: NR IAS ACADEMY'’s 7th Tamil Pg.49

BB BT BB SlewandHmpd CHTHUSHTD CHTemsid

6UH BI6IT6I

TS I
6160 F

(1Y

61(LD & Bl H6IT:
a. &, m b. &. B
C. L, ewr d. & &Y

Ref: NR IAS ACADEMY'’s 9th Tamil Pg.21

Waedm Fraemen (PpHOeRHSH DITOITHSH HBD

QrewiLmd aWHH @Blars CHTHLUS
ereILI(HLD.

a. Bman agmsYy b QumPiy asme

C. QB CIHIMD d & asHms

Ref: NR IAS ACADEMY’s 9th Tamil Pg.216

ENGLISH

Bring out the figure of speech used in the given lines:
“Then, what gems would we see? Perhaps a beautiful
heart”

A) Hyperbole B) Metaphor v

C) Antithesis D) Oxymoron

The words ‘yours faithfully’ are the
of a letter

A) Head B) Salutation

C) Superscription D) Subscription v’
Ref: NR IAS ACADEMY'’s 6th-10th Material -
Vol-2 Pg.15

Pick out the “palindrome’ word

A) Malayalam v/ B) Precious

6
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64.

65.

66.

67.

68.

69.

70.

71.

72.

73.
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C) Victim D) Telugu

Use an appropriate word to fill in the blank
Grievances cannot be redressed.................. they are
known

A) as B) because

C) that D) unless v

Ref: NR IAS ACADEMY’s 6 to 10 English
Extra Material Volume-1, Page no. 62
Identify the correct dictionary sequence

A) ornamental B) originate

C) original D) ornithology
A) ab,cd B) dbac

C) bcad D) cb,ad v

The words ‘stationary’ and ‘stationery’ are called
A) Synonyms B) Antonyms

C) Hornonyms D) Homophonesv’
Identify the sentence according to its king:

“This lesson is interesting’

A) statementv’ B) interrogative

C) exclamatory D) imperative

Frame a question for the following sentence

There are fifteen players in the team.

A) Flow much players are there in the team?

B) How long players are there in the team?

C) How many players are there in the team?v
D) How far players are there i n the team?

Find out the sentence with the appropriate collective
noun.

A) The farmer has a pack of cows

B) They saw a school of lions

C) A flock of birds flew in the skyv’

D) A herd of fish swam in the tank

Ref: NR IAS ACADEMY’s 6-10th Material 2 -
Pg2

Ref: NR IAS ACADEMY’s 6-10th Material 1 -
Pg85

Trees give fruits to us year after year.

Choose the correct sentence pattern.

A) SVIODOA B) SVDOIOAVY

C) SVOCA D) ASVDOIO
‘Sombre’, ‘melancholy’, “‘grieving’, ‘mourn’ - These
words describe the feeling of
A) sadnessv’ B) panic

C) delight D) worry

Ref: NR IAS ACADEMY’s 6 to 10 English
extra materails Volume 1 page no. 84

This book is your book

The underlined word can be replaced by

A) yoursv B) yours’

C) your book D) vyour’s book
Complete the following sentence with the correct
form of adjective
Mala is..........cceennen.
A) youngerv’

than Kannan
B) young

www.gfort.in
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74.

75.

76.

17.

78.

79.

80.

81

82.

83.

84.

C) ol D) youngest
Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no. 74

A) grunts B) squeaks

C) neighsv D) croaks

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no. 2
Who is a ‘Jaywalker’?

A) A pedeatrian who walks slowly

B) A pedestrian who ignores
regulationsv’

C) A pedestrian who walks fast

D) A pedestrian who obeys traffic regulations.
Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no.79

Which one of the following words is similar in
meaning to KINDLED
A) ugly

C) awakenedv

Latha started the quarrel
Here the underlined verb is

A) transitivev’

B) intransitive

C) both intransitive and transitive

D) none of the above

Identify the plural which is not apophonic

A) feet B) geese

C) fishv’ D) men

If “‘ox’ changes an ‘oxen’ then how does the word
‘staff’ change?

traffic

B) Awicward
D) untidy

A) staffs B) staffes

C) staves D) staffv’

Which one of the following words is wrongly spelt?
A) giggled B) evasivlyv

C) disperse D) dolted

I WasS......ccovennnn when | was hit on my head.

A) jubilant B) felt

C) scared D) stunnedv’

I am your teacher..............
Fill in the blank with correct question tag.

A) amn’t|? B) am I?

C) aren’t 1?v D) won’t I?

What is another name for the “study of languages’?
A) philologyv B) petrology

C) phytology D) philosophy

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no. 17

In a debate the words ‘At the outset............ i
for

A) introducing the topicv’

B) Givingexamples

C) Giving reasons

D) Summingup
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Asoka was a wise king

In this sentence Asoka is a
Kingisa ......cccoen.
A) Common and proper

B) Proper and commonvy’

C) Proper and collective

D) Common and Abstract

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no. 60

How many syllables are there in the word
‘competition’?

noun, and

A) Three B) Four v

C) Five D) Two

If it had rained well, the farmers............ccovvvnn..
happy

Choose the correct clause.

A) will have been

B) would be

C) would have been v/

D) would not be

Writing “Well - boiled icicle” instead of ‘well - oiled
bicycle’ is an example of”

A) Malapropism B) Spoonerism v’

C) Euphemism D) Archaism

Ref: NR IAS ACADEMY’s 6th - 10th Material
2, Pg.17

Fill in the blank with the suitable Homophone

Neem Leaves are used tO .........ccvvvvvvrvenee, skin
diseases

A) hale B) heel

C) heal v D) hail

According to the place and manner of articulation
the underlined consonant sound in the word gas falls
under:

A) nasal B) lateral

C) plosive D) fricative v

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no.19

MATHS

oTenT 59532-601 LUy L FHHHHHSHMETenr GHmymu
&I
a) 59000 b) 59500

c) 60000 Vv d) 59600

The number of 59532 rounded off to the nearest
thousand is

a) 59000 b) 59500

c) 60000 Vv d) 59600

18, 12, 51, 32, 106, 92, 58 easi3  efeuymicmeriest
BLBleme oI

a) 106 b) 51 v

c) 92 d) 42

The median of 18, 12, 51, 32, 106, 92, 58 is
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93.

94,

95.

96.

a) 106
c) 92

b) 51 v
d) 42

3
@@ Sreugd 1 wewll GHIsHae0 g G&.15. o _wyb

1
QUTTHMG!  6TeuT60 25 BT &HEHdHG LIBE

DISHHTOTHH6I © WD

6
a) E@E.Lﬁ b) 30 Q.
c) 35 Q.6 d) 36 Qg5 v
3
If a plant grows 5 cm in an hour, then its height
1 :
after ZE days is
a) 10 cm b) 30 cm
c) 35cm d) 36 cm v

BIesIe GuT QsmemiL e @(palesT syma aubLOT6ID
610.25. prmeveufled @meui @Guwaled®mn s
alevdwiller, &gmam  eugplomend 650.75  eTasilen,
alevdlw BLM6T aUHLDTEILD

a) T488.25 b) T488.75 v

c) 479.75 d) 489.25

The average monthly income of a four member group
is ¥610.25. When one member leaves this group,
the average income becomes I650.75. The salary
of the member who left the group is

a) T488.25 b) T488.75 v

c) 479.75 d) 489.25
S \/0.036x0.72x0.049 B

AL SIS ) 04 0.09x0.08

a) 2.7 b) 27

c) 3.1 d 21 Vv

Fid the value of \/0.036x0.72x0.049_

e e Vaite O\ 0.04x0.09x0.08 ~

a) 2.7 b) 27

c) 3.1 d 21 Vv

B etemidement WHGUIH GuT.eu. 2 WBBID WFS W
Qum. 28 eT6li®. @h 6lewl 4 6@ied  LoBOMBTIH
6T600T 616016017

a) 20 b) 16

c) 18 d) 14 v

The H.C.F and L.C.M of two numbers are 2 and
28, respectively. If one number is 4, then find the
other number.

a) 20 b) 16

G-Fort Academy

c) 18 d 14 v
2
97. 2-60 eIGHHMeN §-&36ﬁ o _siTerent?
a) 5 b) 2
c) 3V d) 6
2
How many 3 ‘s are there in 2?
a) 5 b) 2
c) 3V d) 6
98. o Garlyar WsTear Brei® 6D H6T6n
GamemtmiBe 4X oBmID 3X+5 e1afled X-681 FHLIemLic
HITCT 5.
a) 30° b) 35°
c) 25°Vv d) 20°
Two linear adjacent angles on a line are 4x and
3x+5. Find the value of x.
a) 30° b) 35°
c) 25°V d) 20°
99. @ FCeurdymiled eidhHmer 6LATTD o _6iTeres?
a) 10°v b) 10°
c) 10° d) 10¢
How many milligrams are there in a kilogram?
a) 10¢v b) 10°
c) 10° d) 10¢

100.@m sy alfiinler Berid, @b SMBUIET BeTHmab

1 1
el 25 15 &Homey. HeoJ eufilINeT Hermd 32 ]
TRN60 SIMBUNGHT BETD .voveeeee
a) 51 b) 575 5 v
c) 550 1S d) 6 1

1
E m less than the

length of the room. If the length of the carpet is

The length of a carpet is 2

1
BZ m, then the length of the room is
a) 5m b) 575 m v
c) 550m d) 6m

101. giemyaul’ L augeleorer misTale b 21 1. ¢
BULpSG I5 ais HBG FBBGM Simnds

UG CF608)Y ....cocvvnaeene
a) <1040 b) 840
c) Tao v d) 640

A park is in the shape of a semi circle with radius
21m. Then the cost of fencing it at the rate 5 per

metre is
a) 1040 b) %840
c) T40 vV d) 640

102.@m &t 25 e Li QuiGymeded, 150 &l.iS. &myid

8
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103.

104.

a) ¥ 14,500 v b) T 14,000

c) I 14,670 d) T 15,000
105.30-8@1b, 60-6GHID Benl_uled 2 66T LIBT 6T6m1H616H

6T 6U3T 60011 &b 61 b :

a) 8 b) 5

c) 6 d 7 v

106.

107.

108.

GFeveuid eTetBTe, 30 a9 LT G Gymeded GlFsoeVID

QBHTENEIRY oecvevvevrrereennes
a) 160 km b) 190 km
c) 180 km v d) 200 km

If a car can go 150 km with 25 litres of petrol, then
the distance that can be travelled with 30 litres of

petrol is
a) 160 km b) 190 km
c) 180 km v d) 200 km

@b BUT SHETLID  6Tem LenishaHe0 Lpeiiled e
UBlendd O@Temi(h @b CUTHeneT eITBIGHH BT,
SIIOuTHefar allenso I100 erafled, S OHHS
Qg g  LiewILD:

a) <1000 b) ¥ 300 v

c) < 3000 d) ¥ 100

To buy a product, a person spends one third of his
money. If he bought the product for ¥100, then the
original amount of money he had is :

a) <1000 b) ¥ 300 v

c) < 3000 d) ¥ 100

Q0 QFTmedsT S0 GQuily 8% wadlys g6
afl Gaiga BT alamev T 15,660. WIS
&G oufl Bl oiHen allewev ereiten?

a) ¥ 14,500 v b) ¥ 14,000

c) T 14,670 d) ¥ 15,000

Cost of a T.V. set including VAT at 8% is X

15,660. Find the price before including VAT

The number of prime numbers that lie in between
30 and 60.

a) 8 b) 5

c) 6 d 7 v

&6 CardBaHslILL (BeTenauBled HeflLL L i

b) Gamemd

d) anibyy

The odd one in the following is

a) Cylinder b) Sphere

c) Circle d) Cone

o | Garewimisellal gmBHe0 360° QamewiL
UevBamemTd

a) mImaejn v b) waBsmewiid

C) omEGsTewID d) opmGsTewID

A polygon, the sum of whose interior angles is
equal to 360° is called:

a) quadrilateral v b) triangle

C) pentagon d) hexagon
ofevdas 10al Quilw eexieniB@D, SfevHs
WsF dAPw eemeniBED SewLBGw o sitem
alGFHwred
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a) 8,99,998 b) 9.89,999

c) 8,99,999 Vv d) 1,00,999

The difference between the greatest six digit number
and the smallest six digit number is

a) 8,99,998 b) 9.89,999

c) 8,99,999 Vv d) 1,00,999

109. @ au@liigieen 10 wremieuiseien gymafl o wiyib

166 QF.15. etenids HEISHLLLULL F. HBHEUGODHENGIF
FRUTTSGDEUTSEI @ WAL 150 GF.15. aaIHBG
udleurs 160 QF.15 e1e HoupTed GBILLILLILLL &
eTeiTLIGg HeIBLNQSBLILL L I, 6levfled Frfluwimer Fyma
2 WD ST,

a) 175G6g.8 b) 185 Q.6

c) 165 Qg.f v d) 155 Q.85

The average height of 10 students in a class was
calculated as 166 cm. On verification it was found
that one reading was wrongly recorded as 160 cm
instead of 150 cm. Then the correct mean height
is:

a) 175cm

c) 165cm v

b) 185cm
d) 155cm

110.@ wWaleuawiguilar aflmeo 1500 ere @

GNBEILL BeiTengl. BFmer <1350-6@& alBBTed
H6NEHLIY FHaIHID 616016017

a) 15% b) 12%

c) 10% v d 11%

A Bicycle marked at %1500 is sold for ¥1350. What
is the percentage of discount?

a) 15% b) 12%

c) 10% v d 11%
111 ?-sﬁr 12%

a) 3 b) 4

c) 2v d s

12% of @ is

3 s

a) 3 b) 4

c) 2v d) s
112, 10s5 HPlw LG eteut:

a) 1 b) 2

c) 4 vV d 6

The smallest composite number is

a) 1 b) 2

c) 4 vV d 6

113. 9 BGumbaHed (IPH60 aUTTSH B0

www.gfort.in

(5.27,432-1D
BOrewILTaug l aUmIHHe0 @h.16,758-D  QIGeoTHMBSI.
WWHO UMTHSHIL T QUILIHMBUIGD Gl Tealg)
AMTSHFHET G0 616166 (FHemMBa,]?
a) T 9,674 b) ¥ 8,674
c) ¥ 10,674 vV d) T 12,674
In a town bus 27,432 was collected in the first week
and 16,758 was collected in the second week. By
how much was the collection amount less in the sec-
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ond week compared to the first week?
a) T 9,674

b) X 8,674

c) ¥ 10,674 vV

d) T 12,674

114.QeuelF QFeioussAHar ugluene 360 &.15. o 6T
CFaluassgar UgliueTe 280 &.15. @elaldm
CFalauaBRISEHSGHD BoLulled Frrer uUTms
® 6lTeNgl. LITenHUNeST LTLILIGN6 6TedTenr?

a) 80 m v

b) 90 m?

c) 100 nv

d 70 m?

The area of outer rectangle is 360m?. The area of
inner rectangle is 280m2. The two rectangles have a
uniform pathyway between them. The area of the
pathyway is:

a) 80 m v

b) 90 m?

c) 100 nv

d 70 m?

115. 9 Gwhdssd 200 W.ed. uted ofsd 40
GWHMGHHeT GaTewiL au@GLiLled 660 60T
GWHMHBEHHGID CHemeuwmer LTeS6m S6ne]

b) 11l

c) 12l d) 8l v

If 200 ml of milk is required for a child, then the

quantity of milk required for a class containing 40

children is
a) 1ol b) 11l
c) 12l d) 8l v

116.9 Q&1 ubsd SleTayelien FHEFHTHH 3 6GF.15.
UbS OI6N66ITeN  HIFHITRIH6T 61556060 !

a) 9 b) 54
c) 271 v d) 18
How many cubes of side 3 cm are in a cube of
side 9 cm?
a) 9 b) 54
c) 271V d) 18
117.20, 25, 21 ... , 14, 15 alesaHne wsbh
Bevemev eTelled eNBLILL  6T6wT:
a) 20 b) 25
c) 30 v d) 15

If the data 20, 25, 21, __, 14, 15 has no mode,
then the missing number is:

a) 20 b) 25
c) 30 v d) 15
118. (32 + 32) x (5% + 12%)-a51 euidaelpeld =

a) 45 b) 55

c) 75 d) 65 v

The square root of (32 + 3%) x (5% + 12%) =
a) 45 b) 55

c) 75 d) 65 v

G-Fort Academy
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119.100 i =
a) 1 &b
b) 0.1 &8 v
c) 0.01 &.f
d) 0.001 &.8
100 metre =
a) lkm
b) 0.1 km v
c) 0.01km
d) 0.001km
120.Gayest alengey elewiy GFaienet OFe F6ded bl
22.10 wenild@Gl UBLUL G WwaIbETeT 2.50 ewildhE
Bgevld OFaHIBENLHHEHI 6lefled alewig gloul GHyD
67601601 ?
a) 6hrd40m
b) 4hr40mv
c) 3hr40m
d) 7hrd40m
Cheran Express Train departed from Chennai
central at 22.10 hrs and reached Salem at 2.50 hrs
the next day. Then the running time of the train is
what?
a) 6hrd0m
b) 4hr40mv
c) 3hr40m
d) 7hr40m

Gbme gnflallwed /EVS

121. 0BT 1960 F1 L Gosvenel @LOISSLILIL L SL60T(H

A) 1983 B) 1984

C) 1985 D) 1986V

The upper house in Tamil Nadu was abolished in the
year:

A) 1983 B) 1984

C) 1985 D) 1986

NR IAS ACADEMY’s Ref: 6th to 10th Civics
and Economics Pg.64

30 &6t @@ 15 euml. CFL alend@ Byeyd
usID erfujd GuTEH CFeVaITGLD SBM6eL
A) 3888>10°a60 B) 10.8 wefl v

C) 38.88 X106 weur” D) 108 uyesii”

The energy consumed by a 15 watt CFL lamp
switched on day and night for 30 days is equal to

122.

A) 3888>10°7 B) 10.8 unitv’

C) 38.88 X 106watt D) 108 unit

giwrer alewLemwsd BCHTHOHMH

a) wWleusGll GuUTTenel GUPHBIEIUICIET S

b) euaisded ufa eupmduieuet Heoedwl G et
C) Gouamnouwiaysb@ll Lfawids CaTBHHeue GLsT
d) oBCTeE TTRUISMS IPBIBLICIET aIsL6T60

123.

A) a, b sflwreng B) b,c sfwrerg

www.gfort.in
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124.

C) b,d seupreigi D) ac seaupraigy

Choose the correct option:

a) Aai gave a Shawl to protect a peacock from
exposure to cold.

b) Nalliya Kodan helped people who came to him

for help in the forest.

Pegan gave his horse to Iravalas.

Valvil Oari gave his Kingdom to the artists.

A) aand b correct B) b and c correct

C) banddwrong D) aand ¢ wrongv’

Ref: NR IAS ACADEMY’s Tamil Extra Notes,

Pg.39

urgarafl.  oenafll i9ed o afem  Lilifleyserflen

67 605T 6u0) &b 6 &b

c)
d)

A) 32 B) 100
C) 180v D) 212
The number of divisions on the Fahrenheit Scale are:
A) 32 B) 100
C) 180v D) 212

Ref: NR IAS ACADEMY'’s 6th-10th Science
Extra Material Pg.12

125. feitoupd  eureOTBBI  BBDeyBemeT Filuimer  HTev

126.

ouflenaliLg  Sewris.

a) Ogenfl GFemym FibLieud

b) &L wpry Sussbd

C) OeusitenenuiBear GeaueMBwip Suidbsid

d) doumus sevsld

A)a b c d

B)d a b v

C)c d b a

D) b d a ¢

Identify the correct chronological order in which the
following historical events occurred?

A) Chauri Chaura Incident

B) Civil Disobedience Movement

C) Quit India Movement

D) Sepoy Mutiny

A)a b c d

B)d a b v

C)c d b a

D) b d a ¢

@pswreallel o FFpFHLATB [bDHIUSD ST
BWOLUeT...........

A) 10 SImFFTH6I

B) umymenwes o minlerrseir

C) dgzw whH

D) eywurss Smeveuiv’

In India, Supreme Court Judges are appointed by
the

A) Cabinet Ministers
Parliament

C) Prime Minister D) Presidentv’

Ref: NR IAS ACADEMY s Civics and Economics
Pg.58

B) Members of

11
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JrewFLT o mIlTenTeHemet LGHaldbameuld

A) 5 eupLEIH6T B) 6 eumLmsaiv

C) 7 oummLmiser D) 8 eu@pLBiselt

The members of the Rajya Sabha are elected for a
term of:

A) 5 Years B) 6 Yearsv’
C) 7 Years D) 8 Years
Ref: NR IAS ACADEMY’s Civics and

Economics Pg.55

CFehdulen OBIGLIWIT LG LD.
. QENIEIBTUTS b. QzemeaTuTs

C. ABSHITUTS d. urgegrurg v’
The other name of Ginjee is

a. Aurangabad b. Daulathabad

c. Hyderabad d. Badushabadv’
Ref: NR I1AS ACADEMY’s 5th Social,

129.BGauemevsamyd BHafibseln elaimel:

130.

131.

132. 9119 Bevrmiom

www.gfort.in

a. BeiOu@mEsDd GFuIuD HpeienL ul GlLiewT
b. Benitumesd CQFUIUID HBEIBB &6t

C. @anQumpssd GQauybd SHpems GCuem v
d. BeniGu®msHD CFUIUD HBEenL Ul SLem
Worker bees are:

a. Fertile Females

b. Sterile Males

c. Sterile Femalesv’

d. Fertile Males

Ref: NR IAS ACADEMY’s 6th -10th Science
Extra Points, Pg.34

@b uwiteemen (Welepblall] Send s QFuiweb
aflgrygememuflarfl Hepulled L & Fa b
SRFCWIhSEG DHBMD CBTGHS FLLLD 6157
A) QuEBRIGUPB FLULID

B) Gpemeor &L LbY

C) ®pdhu s LD

D) el&@umilwm waryreniuler oinfdams

The Act which empowered the British to arrest
anyone without warrant and trial was?

A) Regulating Act

B) Rowlatt Actv’

C) Government of India Act

D) Queen Victoria’s Proclamation

Ref: NR IAS ACADEMY’s 6th -10th History,
Pg.122

®bs &SrU  BTTOMBB BB [BTEND 266
ariiwrs  GFweoLBGH MBS

A) g B) engymui®

C) o Mered D) &eveSyed

This gland is exocrine and endocrine in function:
A) Pituitary B) Thyroid

C) Adrenal D) Pancreas v/

Ref: NR IAS ACADEMY’s 10th Science Pg.45
SO0 eaflenL: SenewILd 6B b (héh S
Gouamt(BLD.

gl UBmEmIul uUrTsHls @
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A) mieovyuiyed B) &ms6swiby

C) Pewpt pgdasst D) o meredv’
Adenoma is a type of cancer that affects the
B) Cartilage

C) Lymph Nodes D) Adrenalv’

Ref: NR IAS ACADEMY’s 8th Science Pg.29

133. Opevsl_(Bid BFaued LGHewWId e LB wir?

A) siteted amyTe B) sieied GabriGuedy’
C) s&medenn musgesr D) 1edh8peut
Nerkattum Seval was captured by whom?

A) Col. Horon B) Col. Campbellv’
C) ColinJackson D) Puli Thevar

Ref: NR IAS ACADEMY’s 12th History Pg.50

134. Qum(rSHBI5.

a. oGwmger + LDeuTED i. Ueens stu1Ed

6119 5360

b. wemiQemiewIenem + BT . STUIFS 6UgHHE0
C. SeLBABTEL + BT . UBSBBLOTHE0
d. Quedesr + GLmaeier V. flens Liemed

a b c d
A (iv) (i) (i) (i)
B (i) (iv) (i) (i)
C (iv) (i) (@) (i)
D (i) (iv) (i) (I)v
Match the following
a. lodine + Sand i.  fractional distillation
b. Kerosene + Water ii. distillation
c. Alcohol + Water  iii. Sublimation
d. Benzene + Toluene iv. separating funnel

a b c d
A (iv) (i) (i) (i)
B (i) (iv) (i) (ii)
C (iv) (i) (@) (i)
D (i) (iv) (ii)) (i)v
Ref: NR IAS ACADEMY’s Chemistry

Volumel, Pg.68

135.58@510  HewiBLIgESOIUL L HTeD 617

A) yglw smeTewY B) umpw SBBTEVD
C) ®&mbus smevld D) Qg &meold
Invention of wheel took place in which of the
following Ages:

A) New stone agev’ B) Old stone age

C) Iron age D) Copper age

NR IAS ACADEMY'’s Ref: 6th History Pg.2

136. s15@eromerdliwim  ©IBEHed GLIHIDGETR]  HTewTILIBLD

6UTUL|E> B 6TTTEU 6OT:

a. oWBLIMST BHID SdHenees

b. ewpLrme wBmId anfeduid

C. WAL JR6 LOBMILD 6MHLTRI60T

d. eamljyme wpmw efelwby’

The gases mainly found in the exosphere layer are:
a. Nitrogen and Oxygen
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137.

138.

139.

140.

141.

b. Nitrogen and Helium

c. Hydrogen and Nitrogen

d. Hydrogen and Heliumv’

Ref: NR IAS ACADEMY’s Geography Pg.21
UT@MBIWITET  WM(HeDL W STevHFHe0  BbSHumalng
UBHSTT?

A) wpseomd sHAT GLIST

B) @rewiLmbd spAy GUSTY

C) wawmbd sy GUST

D) Sreimbd swsHSly GSUST

Fa-hien visited India during the period of:

A) Chandra Gupta |

B) Chandra Gupta IV

C) Samudra Gupta |

D) Samudra Gupta Il

Ref: NR IAS ACADEMY’s 6th History Pg.20
Gamatsel @flweners amnl Sumi@bCurgl,
GamEnd@ld Gilwaid@ld e il L FTifuwed
alenaullen Heienio

A) Blevev Weiailuled aleng

B) eww Gprég ealamsv

C) &mps alms

D) ewww elevd@ alos

When a planet revolves around the Sun, the
gravitational force of attraction between them
provides:

A) Electro Static Force

B) Centripetal Forcev’

C) Magnetic Force

D) Centrifugal Force

NR IAS ACADEMY'’s Science Extra Points
Pg.16

Bemeouien eufluwins meny BHrmealwns GeueMGuIBm®ID

A) st s 560 B) wrraiedGyageiv’
C) qeaN&Gsidbams D) &GwrLrédlerd

The process by which a plant loses water through
its leaves is called
A) Respiration

C) Photosynthesis

B) Transpirationv’
D) Chemotaxis

Ref: NR IAS ACADEMY’s Last Class
Revision

amaiallll UmalUuLE smerll LWaTU®BS S
AUMJWILILIBEUDGL. ...

A) QFRGHH QIGDTLIL BIBH6IT

B) eumaieuyl euenyuLmisev

C) BuBms eueTLIL RIS

D) opdlwed euenyLLmisei

Maps created by using aerial photographs are called

___ maps.

A) Orthophoto B) Aerial photov’

C) Physical D) Political

1950-841b SewI(H 2 FFHAHGBBHH60 QH HEN6VNLD

BaHUFH o UL ahsmear HIHUDEen @1
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142.

143.

144.

145.

QB HH 60T ?
a. 8 pFHudaeiv b. 16 paudse
C. 24 pHudsenr d. 26 BHuHsei

In 1950, our Supreme Court consisted of how many
judges including the Chief Justice?

a. 8 Judgesv’ b. 16 Judges
C. 24 Judges d. 26 Judges
Ref: NR IAS ACADEMY’s Civis and

Economics Pg.57

Slard s o ufllgmerien  FHTauym &6l glld

alevnigEeenld o 6itenn HeilomidseMet Filuwimer eml

aflens

A) sredlwb > opLImST > ®aBLIRar <

sriual < odlmeay

maBL T6T < HTLFWIDS HITLST < &S eert

< eW[BL_[JEQ60T

C) anuei< yédmer< sreodwib< epL Jeger<

MABL_ TR 60T

D) bl Ima< enaml Fmer < &miuet < smeodluib
< g HFees

The correct increasing order of elements in all the

living things, both plants and animals is:

A) Calcium < Nitrogen < Hydrogen < Carbon

< Oxygenv’

B) Hydrogen < Calcium < Carbon < Oxygen <

Nitrogen

C) Carbon < Oxgen < Calcium < Nitrogen <

Hydrogen

D) Nitrogen < Hydrogen < Carbon < Calcium <

Oxygen

Ref: NR IAS ACADEMY’s 8th Science Pg.125

Qb Gurmeier Bens 2 KJ oBmId SIHest (PISHID

3 mM/s?, eladled QIHET ale0F..............

A) 6 NV B) 12N

C) 18N D) 36N

If the mass of the body is 2 kg and the acceleration

is 3 m/s? then the force is:

B)

A) 6 NV B) 12N

C) 18N D) 36N

Ref: NR IAS ACADEMY’s 10th Science
Pg.229

25°C Qautiumleneouied senydmeiar gmiafand
A) NaBr < NaCl < Nal

B) NaCl < NaBr< Nalv’

C) NaCl < Nal, NaBr

D) NaBr < Nal < NaCl

At 25°C, the increasing order of solubility is:

A) NaBr < NaCl < Nal

B) NaCl < NaBr< Nalv’

C) NaCl < Nal, NaBr

D) NaBr < Nal < NaCl

NR IAS ACADEMY’s Chemistry Volume 1
Pg.30

UBSGID HBeBs LUBened SEHIOUTESID. ..coovneerenennnes
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146.

147.
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A) repY B) &eaf

C) umm D) wymlsnss)
The bird which cannot fly is

A) Emuv B) Parrot

C) Pigeon D) Woodpecker
GeWIewITDLS SHevevlesr Geuglll QLT

A) sTedAWid mamL gTHmen(d

B) asmeofwid ousHma®

C) amebduid FeoBur

D) ameodlwid sriuGer v’

The chemical name of lime stone is:

A) Calcium Hydroxide

B) Calcium Oxide

C) Calcium Sulphate

D) Calcium Carbonatev’

Ref: NR IAS ACADEMY’s Chemistry Volume
1, Pg.34

Gougon™ Hevald GTLOUT(RSI BHML GLIBBEHI?

A) 9 sremev 1806 B) 10 mremev 1806V
C) 17 srewev 1806 D) 21 sgeemev 1806
When did the Vellore Mutiny take place?

A) 9" July, 1806 B) 10" July, 1806v
C) 17 July, 1806 D) 21%July, 1806

Ref: NR IAS ACADEMY’s 8th History Pg.103

148.piToens WLPDBIL HUFH UBSEHHSG BHOHal

149.

150.

www.gfort.in

SIEWLOHSIGTEN  LD6M6VS OIFHTLT:

a.  SIuIbenev b. aureusdel

C. alpguw d. engygny

The hill or range that lies between the Narmada and
Taptiriver:

a. Himalayas b. Aravalli

c. Vindhya d. Satpurav’

Ref: NR IAS ACADEMY’s 10th Geography
Pg.131

UFHFUWISHH STeILUBID & G60THID......vevnvereeen. SLSLD
A) Fe B) CA

C) Co D) Mgv

The metal presentin chlorophyll is

A) Fe B) CA

C) Co D) Mgv

Ref: NR IAS ACADEMY’s Chemistry Volume
-1 Pg.22

abd B Bement alleVT 6TVIDLIH6NT SHHESHID 6T
GTRUIDLIH6IT 6Td SIS BLILIBHAMBGHI?

A) 7 wpmib 8 B) 11 wmmw 12v
C) 9 wBmid 10 D) 5 wpmib 6

Which two pairs of the ribs are called ‘Floating ribs’?
A) 7" and 8" B) 11* and 12"v

C) 9" and 10" D) 5"and 6"

Ref: NR IAS ACADEMY’s Biology Volume 2,
Pg.95
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